

भारत सरकार Government of India सूक्ष्म, लघु एवं मध्यम उद्यम मंत्रालय Ministry of Micro, Small and Medium Enterprises



UDYAM REGISTRATION CERTIFICATE



	l,					18		
TYPE OF ENTERPRISE		MI	CRO			MANUFA	ACTURING	
UDYAM REGISTRATION NUMBER					UDY	/AM-RJ-22-0002724		
NAME OF ENTERPRISE		ORGANO SNACKS AND CEREAL INDUSTRIES						
SOCIAL CATEGORY OF ENTREPRENEUR		ОВС						
NAME OF UNITS	SNo. Udyog Aadhaar Memorandum Units Name 1 ORGANO NATURAL HERBS N SPICES				Name			
NAME OF UNITS	2							
	Flat/I	Door/Block No.		17E 54	•	Name of Premises/ Building	Organo Snacks	
OFFICAL ADDRESS OF		ge/Town		Jodhpur		Block	Sector 17E	
ENTERPRISE	Road	/Street/Lane		Near Meera RAJASTH		City District	Jodhpur JODHPUR , Pin	242008
	Mobi	le		7597366923		Email:	sales@organonut	
DATE OF INCORPORATION / REGISTRATION OF ENTERPRISE	24/03/2012							
DATE OF COMMENCEMENT OF PRODUCTION/BUSINESS						24/03/2012		
NATIONAL INDUSTRY	SNo. NIC 2 Digit NIC 4 Digit			4 Digit	NIC 5 Digit			Activity
CLASSIFICATION CODE(S)	1 10 - 1030 - Processing Manufacture of food products 1030 - processing and preserving of fruit and vegetables		serving of d	10302 - Artificial dehydration of fruit and vegetables			Manufactui	
	2	10 - Manufacture of food products	to 1061 - Manufacture of cereal breakfast foods obtained by a swelling cereal grains welling cereal grains		ds obtained by roasting or	Manufactui		
	3	10 - Manufacture of food products	1073 - Manufacture of cocoa, chocolate and sugar confectionery		ufacture sweetmeats includind o	d dairy based sweetmeats Manufact		
	4	10 - Manufacture of food products	ood Manufacture of other food		10793 - Processing of edible nuts		Manufactui	
	5	10 - Manufacture of food products	1079 - Manufa other fo product	od	10794 - Man handicapped	ufacture of malted foods includi	ing foods for infants and	Manufactui
	6	10 - Manufacture of food products	1079 - Manufa other fo product	od	10795 - Grin	ding and processing of spices		Manufactui
	7 10 - 1079 - 10797 - Manufacture of vitaminised high protein flour, frying of da and other cereals of food products products n.e.c.			otein flour, frying of dal	Manufactui			
	8	10 - Manufacture	1079 - Manufa	ecture of		r semi-processed, processed or i products and malted foods and i		Manufactui

like manufacture of egg powder, sambar powder etc. (this excludes the activities covered under 10619) of food products other food products n.e.c.

DATE OF UDYAM REGISTRATION

05/09/2020

Disclaimer: This is computer generated statement, no signature required. Printed from https://udyamregistration.gov.in

For any assistance, you may contact:

1. DIC **JODHPUR JAIPUR** 2. MSME-DI









भारत सरकार Government of India सूक्ष्म, लघु एवं मध्यम उद्यम मंत्रालय



Ministry of Micro, Small and Medium Enterprises

Udyam Registration Number : UDYAM-RJ-22-0002724

Type of Enterprise	MICRO	Major Activity	Manufacturing
Type of Organisation	Proprietary	Name of Enterprise	ORGANO SNACKS AND CEREAL INDUSTRIES
Owner Name	SHRI KISHOR SINGH PARIHAR	PAN	AQRPP7646J
ITR for Previous Year	Yes	ITR Type	ITR - 3, 5, 6
Do you have GSTIN	Yes	Mobile No.	7597366923
Email Id	sales@organonutri.in	Social Category	OBC
Gender	Male	Specially Abled(DIVYANG)	No
Date of Incorporation	24/03/2012	Date of Commencement of Production/Business	24/03/2012

Bank Details

Bank Name	HDFC bank
IFS Code	HDFC0000986
Bank Account Number	50200046680218

Employment Details

Male	8
Female	8
Other	0
Total	16

Investment in Plant and Machinery OR Equipment (in Rs.)

Written Down Value (WDV) as on 31st March of the Previous Year 2018-19 (A)	3091995
Exclusion of cost of Pollution Control, Research & Development and Industrial Safety Devices during 2018-19	10000
Net Investment in Plant and Machinery OR Equipment[(A)-(B)]	3081995
Total Turnover (A) during 2018-19	6563994
Export Turnover (B) during 2018-19	0
Net Turnover [(A)-(B)]	6563994

Unit(s) Details

S	N	Unit Name	Flat	Building	Village/Town	Block	Road	City	Pin	State	District
	1	Organo Snacks and Cereal Industries	P.No.01	Opp. Jeera Mandi	Mandore Road		Krishi Mandi	Jodhpur	342007	RAJASTHAN	JODHPUR
	2	ORGANO NATURAL HERBS N SPICES	19	SPICES PARK	JODHPUR	OSIAN	RAMPURA BHATIYAN	JODHPUR	342305	RAJASTHAN	JODHPUR

Official address of Enterprise

Flat/Door/Block No.	17E 54	Name of Premises/ Building	Organo Snacks
Village/Town	Jodhpur	Block	Sector 17E
Road/Street/Lane	Near Meera Park	City	Jodhpur
State	RAJASTHAN	District	JODHPUR , Pin : 342008
Mobile	7597366923	Email:	sales@organonutri.in

National Industry Classification Code(S)

SNo.	Nic 2 Digit	Nic 4 Digit	Nic 5 Digit	Activity
1	Manufacture of	1030 - Processing and preserving of fruit and vegetables	10302 - Artificial dehydration of fruit and vegetables	Manufacturing
2		1061 - Manufacture of grain mill products	10616 - Manufacture of cereal breakfast foods obtained by roasting or swelling cereal grains	Manufacturing

3	10 - Manufacture of food products	1073 - Manufacture of cocoa, chocolate and sugar confectionery	10734 - Manufacture sweetmeats includind dairy based sweetmeats	Manufacturing
4	10 - Manufacture of food products	1079 - Manufacture of other food products n.e.c.	10793 - Processing of edible nuts	Manufacturing
5	10 - Manufacture of food products	1079 - Manufacture of other food products n.e.c.	10794 - Manufacture of malted foods including foods for infants and handicapped	Manufacturing
6	10 - Manufacture of food products	1079 - Manufacture of other food products n.e.c.	10795 - Grinding and processing of spices	Manufacturing
7	10 - Manufacture of food products	1079 - Manufacture of other food products n.e.c.	10797 - Manufacture of vitaminised high protein flour, frying of dal and other cereals	Manufacturing
8	10 - Manufacture of food products	1079 - Manufacture of other food products n.e.c.	10799 - Other semi-processed, processed or instant foods n.e.c. except farinaceous products and malted foods and manufacturing activities like manufacture of egg powder, sambar powder etc. (this excludes the activities covered under 10619)	Manufacturing

Are you interested to get registered on Government e-Market (GeM) Portal	Yes
Are you interested to get registered on TReDS Portals(one or more)	Yes
DIC	JODHPUR
MSME-DI	JAIPUR
Date of Udyam Registration	05/09/2020